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31.12.53 orva 7 nrworunon npYnaa vioco oY
446,204 n*p  ,mewy 222,300  pvvaa 222.824 1 20-39 syvaa

135.613 * " 5T.592 * 58,021 1 44~40 vHva3

561.M7 281,172 2%,845  n"p 2014 Va3

JU 1,120,000 15210 = g*1Y%* 4 nire’ T 21 93 ex
nrA Tpna 03 L0YTIRY 1.4R5.103 = 31.12.53 pyva pamxn oY 1va Yo

117970 4=% grag 1yRY 117%0a {4 e nvhp EvTR

{0 T man nma -

“noove 1741393

AYIIRAD HATA VINEIN JIIND KT BF CTAY LMONIRY Yapid) pin
angY qx ,vyrara abp kY mmon TIaFa L0003 YHanmge pan oA 13%atYY

«JYIRR YRLEF RTANT = MAFT FITE - ATIZN

Yar ne'wd nntm A "en bk mabra Toxa nnwwan niayw 1rays

+{10%1) a"ar= Yo vorina npiima
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